GravityConstantSecrets
The constant G fell out of consistent measure.

No real magic involved, just pure physics pleasure.

The gravity field is everywhere “felt” the same;

A finite Black Hole Center gets Absolute Blame:

Z-electron Oscillator as Source and Sink,

Whose continuous in-out supply does not blink.

A concentric array of shell-orbit spaces

Are shell-binding-electron stopping off places 

Earth’s Outer Shell is atom-grainy as can be;

The average size of the grain turns out to be G. 

How Newton and Einstein unknowingly discovered the Higgs particle

Earth consists of circulating, ideal-fluid dark matter that is helical string wrapped by visible matter electrons. The electrons spherically organize the dark matter into concentric shells, forming liquids, solids and gases as required. Middle shells are more rigidly bound than inner and outer shells. The ith shell rotates at a distance Ri, around a central maximally spinning black hole (BH). Each shell is a spin/vibration surface defined by G-size Higgs particles, where G gets smaller as shell distance from the BH decreases. The smallest shell at the outer boundary of the BH must spin/vibrate at absolute maximum speed, vmax, while Earth’s solid outer surface has a rotation speed of vmin - which numerically equals the square root of Earth’s mass, ME =  5.9742x1027 grams. Outer shell mass is the square of 3-axis rotation energy, or 3(vmin)2 = ME, so vmin = ((ME/3) = ((2x1013) = ((20x1012) = 4.47x106centimeters (cm) per second . The BH spin speed for all gravity fields is here given the value vmax = ((1/3h) = 7.09x1012 cm per second. This Dynamic field structure requires multiple infinities of circular orbit electrons that we never get to see. A much smaller number atom-in-out-oriented Z-electrons provides anthropic scaling of energy states. 

The concentric array of electron hosting shells are bound to one another in 3 dimensions. In-out oriented electrons circulate from the BH center to the outer surface shell-- in precise synchrony with the two orthogonal, within-shell circular electrons. The concentric shell to shell rhythm of electron orbit speed and perimeter length follow the rule of an underlying universal harmony (UH)-- expressed by G = (R/3v2; which corresponds to Einstein’s space curvature at G on R. This simple version of his field equation, allows integration of the work of Kepler, Newton and Einstein. The universe is closed, infinite and stable. UH-driven determinism rules. GM(m = 1)/R for 3-axis potential energy of a unit mass, and GM(m =1)/R2 for gravity force on that unit mass as attracted by shell variable M--describes Newton’s laws in a shell-discrete manner. Newton and Einstein both discovered the Higgs particle, G, whose atom size at the solid visible outer shell surface does indeed define mass as seen by the Sun’s reflected radiation. Electron event level mechanical vision is clear at and within each concentric shell, and R’s smallest value is the radius of the central BH. This electron orbit shell structure applies to all fields from atom to cosmos.
Visualizing/understanding Mass as a count of G-size Higgs Particles

Mass turns out to be a spherical outer surface Math-point =  Higgs Mass Point count for all the planets of the Solar System. Planets are visible material points of radius R that are orbiting about the BH center of the Solar System. Kepler’s idea of Universal Harmony (UH) applies in a way he did not see because Planck’s constant and its central role in quantum theory had not yet been discovered. If Kepler’s radius of orbit for all the planets are slightly adjusted longer to reflect distance to the center of the Solar System and not the center of the Sun, then their Moment Of Energy, Rv2, has the same value for all, namely 1/h erg-centimeter! This remarkable symmetry of motion applies even to the Sun itself --as a Planet-- where R ( 1011 cm and v ( 107 cm/sec, to yield RSun(vSun)2 ( (1011)(1015) ( 1026 ( 1/h. We thus see what the word “anthropic “ means-- in terms of an h-symmetry of all dark and visible matter in motion –as we measure/interact with it at the molecule level. 

The photon and minimum energy quantum are the same thing so that E = nhf = Mv2. Planck’s constant h is in ergs when n is the number of “quantum = photon” passing in parallel with each pulse, and h is in grams when n is the number of “electrons’ passing in pulse parallel, where UH ensures that f  ( v2 and F ( 1/G as shell by shell gravity force---for all gravity fields from atom to cosmos. The electron is a helical string of 1/h2 Higgs particles! All radiation from heat to electricity to light to gamma rays has a distinct wave- pulse frequency range, and its linear energy per pulse is equal to the square of the along-wave-centerline speed of Higgs particle motion, v. That is, frequency is indeed always numerically equal to v2-- as a matter of underlying universal harmony at the dark matter fluid transmission level! As ideal fluid for the transport of energy, UH granulates the R/G of dark matter for least friction between adjacent R-size material points, where a ray of radiation is a spin touching  line of R’s, whose outer spin surface is defined by Higgs particles. R’s surface mass count is always equal to (R/G)2 = (3v2)2. This means that G is a ball bearing for the surface of R that is sufficiently small to produce least possible R- touching -R friction and energy state change.  
Newton unknowingly discovered that falling visible matter must be seen as made of atoms on the order of 10-8 in size at the Earth’s visible solid outer surface. Each such G-size Higgs particle atom is interactively immersed in the circulating dark matter that fluid-applies gravity force. For the atom as gravity field, the visible matter in shell orbit is always the circular electron, with Z-electrons continually going back and forth from the BH to the atom’s visible outer surface where G ( 10-29 cm, and R ( 10-8 cm. One must assume that the visible outer boundary of the atom is where the dark matter is shell-circulating at the speed of v = c --so that one atom as a unit mass acts on another next door in a given direction per G (m =1)(m = 1)/R =  G/R = 3c2 as potential energy of one with respect to the other. The nuclear BH of the atom is on the order of Rabh = 10-14 cm - where gravity force is 1/GBH ( 1/10-40 ( 1040 compared to 1/GES ( 1/ 10-8 ( 108 dyne –or gravity at the BH is one hundred million trillion trillion times greater than at the Earth’s visible surface! For more, see: http://www.geocities.com/CapeCanaveral/Hall/2638/!MrMorganNewPhysics.doc
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